
Follow me

A
rt no

: 88754550 ver. 003       
A

rt
 n

o
: 8

87
54

55
0 

ve
r. 

00
3

5

Kit 369064004/4 www.troax.com

ST30ST20

Double

ASSEMBLY INSTRUCTION
– JUST FOLLOW ME

MAGNETIC LOCK
HINGED DOOR
KIT 36906400

MACHINE GUARDING

INTERACTIVE
ASSEMBLY

INSTRUCTION

3D

88754550 ver. 003 PROTECTING PEOPLE, PROPERTY, AND PROCESSES.  |  troax.com 1/4



Kit 36906400Kit 36906400

Kit Plastic handle 120mm 36906480

Bag for kit 6400 88696400

Magnetic Lock Hinged Door 36906400

x1 x1

x2

M4 4,0x2,0

M6x12H

5 mm 2,513 7

7

2/4 3/4www.troax.com www.troax.com

A
rt no

: 88754550 ver. 003 A
rt

 n
o

: 8
87

54
55

0 
ve

r. 
00

3

Kit 6400 +
Bag for kit 
6400

Bag for kit 6400

Bag for kit 6400

1

2

3

Double Double

x1
Ø 20x6

Ø 20x6

x1 x1
M8

M8

M6

x1 x1 x1 x2
M8x35

M8x35

M4x20 M4x16 ST20

ST20

ST20 ST20

4

ST30 ST30ST20 ST20

M4x16M4M4x20

4,0x2,0

x1
x1

M6

M6

M6x12H

ST30


